AP Calculus BC

Ex1) Determine the mmrr'rr,-_rnrl-hf the series
Notes 2.2

n* term test, geometric series test & telescoping series
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In general, if the sequence of the partial sum, {S, }, converges to °5", then the series, ~\n n
% 5[ - )’ Z
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if {5, ). diverges, then the series diverges




n' Term Test [divergence]

GEOMETRIC SERIES TEST
—

Geometric Serigs have a common Mﬁo—

Limit of the A" term of divergent series
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£x 3) Apply the n'” term test for divergence-

atar +ar®+- Sum of a Convergent Geometric Series
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If Ir] = 1, the series j}iMS I\a?’
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E) Look back to example 1A,
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